XNN(/’t’O-)r f(.X“t,U) =

1
x —
\/ 2702 P 202

scipy.stats.norm.pdf(x, Ze=loc, scale EFZ=HXY)

x=np.linspace(mu-3%std,mu+3*std, num=100)
fx1l=st.norm.pdf(x,50,10)
fx2=st.norm.pdf(x,40,5)

import matplotlib.pyplot as plt
plt.plot(x,fx1,label="$\mathcal{N}(50,10)$")
plt.plot(x,fx2,label="$\mathcal{N}(40,5)$")
plt.legend(loc=1)

plt.show()

0.08 1
0.07 1
0.06 -
0.05 -
0.04 1
0.03 1
0.02 +
0.01 ~

0.00 -

x=st.norm. rvs(50,10,100)

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [1/25]



http://wolfpack.hnu.ac.kr

]

HI
el

(Chete

= matrix =2 714

= matrix
aypp dyp - 4y
Ay Ay -+ dgp|=> b2 -l . B !
nxp = . . A3X3= 01 2 3x2 — 2.0
: : 1 0 2 1 2
Ayl Ap2 anp
. A {Aij} - ditie &, j= G2 LER
« Al K= n, G X pQl A, K= (MXp)R! AF - 7S CHEAHA B,
HE] vector x
1
Aol X710 S & BIE(column vector) : HIER| 7|2 x = | 2
1
- HO| Xp==7 1101 AHHS Al HIE (row vector) yT = (3 2)
AZE} scalr
« At Fo| Xi= REIHQI AR AE2 scalar (AZEOICE
Eotelid
H sqaure AH
BN ol At S EE - A L
CHZ} diagonal S
T{HFSHE] = CHZIQIAZ Q|5+ = @I AT} QO] HO 100
OOOOEEEH—VL—I—EI-HQL_EEE—LerL O_I__D3= 00 0
00 -2
tr(A) =4

http://wolfpack.hnu.ac.kr [2/25]

k!
% HNU Dept. of Statistics


http://wolfpack.hnu.ac.kr

=
10

S identi

L

__OO

ADZ LIEWHM Rt= p X n O|C

o

=
—

A'(

ISR NN eIl

| -

—

i

(=)
o

| transpose
| symetric &

o

N

- A trace
X

3

—

cl

UN

Algebra

<

T

__A_l

|O

AL

[(3/25]

bln
b2n
bmn

}

C} conformable
b12
ba2
bm2
ay, + bln
az, + b2n
Ay, + bmn
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ba1

f

bml

ain

Qon

amn
ais + bi2
az + b
am2 + bm2

[= AlLFEICE

a2
22

am?2

o
ai
as1
a1l + b1
a1 + by
am1 + bml

| Om1

b addition / subtraction
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N
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=

| Determinant

0 b

c d

det O P logen_4e3216-12
Ny |07 7772=07

=

- dFEo Ui (AB)
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a1 a2 a3 : ail a1

s v ’
s L/ 7
/s
’ s 7
. S .

asi a32 azs : a3y a32 =
: (3)(3%'3'224)

n P n P
| Al= 3 aji(-D)"" [ My |= 3 aj(-D"" | M; |

i=1 Jj=I1
123
A=14 57
Ae3a A 127 Vlggane
5 7 4 17 45 i
|Al=1*%(-D)™ +2% (-1 +3%(=D'" =7 1A B o
DTS 10 D7 e 10 ()89‘(7«117&1%)
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g1 1
A e —adjia = —
| A | A

g8 44)
o ¥PH-L uniquedsttt.

o la 14l (T =a @)=y Byt -7l

A4 rank

OII

. (Fo)) sHollA M =2iol ol Tt Aol s E 2zt rank(A,,,) < min(n,m)

0

mXxn

» Fl(full rank) : (nxn) S BZ0|M 1 S2IC| (Z)2| H-()7 &Z2| K== n2t ZTHH 0| B2 full-rank

—

=oletsict = rank (A, ., ) = n 0H ful-ranko|C}

00|I

nxn
ZO|(LIN: linearly independent vector)

a| x| +axx, +..+apx, =0

P ot ggsieie RE g, = 0 Y gt Esick HHE

(X)X, x )= 1% SEinearly independent) "=} &

. 00| OFl ;0| CHal A PHESHHH (15 Z&(inearly dependent)?! HIE]

AN

« S TEQHIE = ol HIE S CHE M S2| M ZelC = HA[Z £ RICh= AS <|0[aitt
« AP Ho] EA Tt » AP o] EAsHA] Y=
= full-ranke]t}. rank(A)=n = full-rankotyrt}. rank(A)<n
» A+ non-singularo]t, » A= singularo]t},
L] |A | #0 L] |A | =0
» Ax=b ©] sj7} EAT. « Ax=b 9] a7} ZA5}A] P
1 -1
By,=12 0| rank(B) =2
1 2
1 -1 0 _ = =
My,=12 0 2|~ rank(M) = 2 2?7 24w Dot S| Ze| f2 3MP0|Ct T2 = 38
1 2 3
2 ELE0 QS => It 12 ExSHR| fon Mx = 0S 2EsSH= she 245| YLt

A
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A=np.array([[1,
[_51 8; g]i

[_6; 7; 11] ])
B=np.array([[1,
[4,7,911)

AHRHS, BHS] > D= ?IX|HS= OB 2|2t SYSHA 0FE AZFEIC

> (array([4, 8, 71), 4)

[»> array([I[ 1,
[-51
[_61

24
=

02
[0

shape : &t QD Xt~ ndim : array XF7H4= size ) B

L (3, 3), 2, 9)

TR transpose A, = ApTxn

[[ 1-5-6]
[ 4 8 7]
[ 5 9 11]]
orint (A.T, '\n skkkkkk \n',B.T) Kk kA
[[1 4]
[2 7]
[3 9]]
S 7|

* 7t 7| ol Xp4=7+ 2™ conformable (21AF 7Hs)

* N2 7| RO Xpv 2o H Gk
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print(np.hstack([A,B.T1), "\n sekkskkrk

\n',np.vstack([A,B]))

—,———— % .

CiSE7 | W7 | : ot Ho| X7t SLSHOF 8f

array([[ -1, -4, -5],
[ 51 _81 _911
[ 6! _71 _11]])

T57| : 9 20| Yo| xfxof 7 #H B xf47} SUsHOf

[> array([[ 24, 77],
[ 38, 117],

[ 41, 124]])

|
B
|0
HU
oz
oL
0t
e
o
o
it
0]
0%
e
10
oOII
ey
1=
rlo
rH

RH5HX| H=C}

LS

import numpy.linalg as la 4.
la.det(A) L 549

A0 00|H A =2 E S HAH TSIV CHE ES2t =2 0| OfL|2h= 2|0[0|=2 Full rank?} OFL| T 24

la.matrix_rank(E), la.det(E)

>
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o33 « KHISH0| 1 SHZA0] Offull-rank)0| Ol 2L ZEx|

> array([[ 0.26595745, -0.09574468, -0.04255319],
[ 0.0106383 , 0.43617021, -0.36170213],
[ 0.13829787, -0.32978723, 0.29787234]])

[> array([[ 1.00000000e+00, 8.46545056e-16, 1.2351231le-15],
[-2.22044605e-16, 1.00000000e+00, -1.11022302e-16],
[ 0.00000000e+00, 1.11022302e-16, 1.00000000e+00]7])

b=np.array( [1’4’7]) array([ 3.125, -2. , =0.1257)
la.inv(A).dot(b)

array([1l., 4., 7

.
d
e

array([[0., 0., 0.],
[0., 0., 0.71])

> array([[l., 1., 1.1,
[1., 1., 1.1])

array([[1l., 0., 0.7,
[0., 1., 0.],
[0., 0., 1.11)

I:') arraY([[3l 3l 3]r

np.full((2,3),3) # [3, 3, 311)

Cbongagl | ATTay(1[0.859799 , 0.37413985, 0.28712814],
np.random. random((2,3) #ctMdy [0.02358198, 0.31388947, 0.17501232]])

%% |INU Dept. of Statistics http://wolfpack.hnu.ac.kr [10/25]
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TR, SR, A2

1 A2 Xip

0] xjan, LA T p2l HOE| HE X, = 21 *2 o Y
Anl Xn2 xnp

X1
SHEH{A OJHIIE- — | *2
Xp

import pandas as pd

iris=pd.read csv(

[ <class 'pandas.core.frame.DataFrame'>
RangeIndex: 150 entries, 0 to 149
Data columns (total 6 columns):
# Column Non-Null Count Dtype
0 Unnamed: 0 150 non-null inté64
1 Sepal.Length 150 non-null float64
2 Sepal.Width 150 non-null floaté64
3 Petal.Length 150 non-null float64
4 Petal.Width 150 non-null floaté64
5 Species 150 non-null object

53 Sepal.Length Sepal.Width Petal.Length Petal.Width

df=iris.iloc[:,1:5] 51 35

4.9 3.0

Sepal.Length 5.843333
Sepal.Width 3.057333
dfdf.mean() Petal.Length  3.758000
Petal.Width 1.199333

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [11/25]
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Sepal.Length
Sepal.Width
Petal.Length

Petal.Width

Sepal.Length
df.corr() Sepal.Width
Petal.Length

Petal.Width

Sepal.Length Sepal.Width Petal.Length

0.685694 -0.042434
-0.042434 0.189979
1.274315 -0.329656

0.516271 -0.121639

1.274315
-0.329656
3.116278

1.295609

Sepal.Length Sepal.Width Petal.Length

1.000000 -0.117570
-0.117570 1.000000
0.871754 -0.428440

0.817941 -0.366126

0.871754
-0.428440
1.000000

0.962865

Petal.wWidth
0.516271
-0.121639
1.295609

0.581006

import numpy as np
df_mat=df.to_numpy()
df_mat.shape, df_mat.size

n=df_mat.shapel[0]
one=np.array(np.ones(n))
df_mean=np.dot(one,df_mat)/n

> ((150, 4), 600)

array([5.84333333, 3.05733333, 3.758 , 1.19933333])

O

28 HNU Dept. of Statistics http://wo

array([[ 0.68569351, -0.042434
[-0.042434 , 0.18997942,
[ 1.27431544, -0.32965638,
[ 0.51627069, -0.12163937,

Ifpack.hnu.ac.kr

1.27431544,
-0.32965638,
3.11627785,
1.2956094 ,

0.51627069],
-0.12163937],
1.2956094 ],
0.58100626]])
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0
g
N
1>
o2t

=
EEE%XP

COV(x;, xj)
V V) Vx)

_IE1D§R D™D cizistE e 2EAtsizIo| cziel Aol NS 7 = 2t 8t 2Ate| XiZ2

g2 Corr(x;, x;) =

import numpy.linalg as la
D=np.diag(np.sqrt(np.diag(df_cov)))

D_inv=1la.inv(D)
D_inv@df_cov@D_inv

array([[ 1. , -0.11756978, 0.87175378, 0.81794113],
[-0.11756978, 1. , —-0.4284401 , -0.36612593],
[ 0.87175378, -0.4284401 , 1. , 0.96286543],
[ 0.81794113, -0.36612593, 0.96286543, 1. 11)

SI7EA OLS H AM y = Xb + ¢, OLS FHR| b = (X" X)Xy

import statsmodels.formula.api as smf

model=smf.ols(formula="'iris["Sepal.Wi coef stder t Pltl [0.0250.975]

dth"]~iris["Sepal.Length"]"' Intercept ~ 3.4189 0254 13.484 0.000 2918 3.920
. = ris["Sepal.Length"] -0.0619 0.043 -1.440 0.152 -0.147 0.023

model.fit().summary()

y=np.array(iris['Sepal.Width'])
x=np.array(iris['Sepal.Length'])

one=np.ones(iris.shape([0]) array([ 3.41894684, -0.0618848 ])
X=np.vstack((one,x))

import numpy.linalg as la
la. inv (X@X.T)@XQ@y

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [13/25]
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O|XFA xT A x (A=CHE2HZ)0]| CHSHOd
<E(xTAx) =tr(AY) +£tTA£t
- V(xTAx) = 2tr(AZAY)) + 4uTAZAp

(2 == (x = @) ~ ()OIt

_ X X Ox ny
O Y =R &Y l ] ~ BN ; P = Corrix,

':'._—FZI, Zz ~ lldN(O,l),X = O'le +//lxand Y= O'y[pZI +‘\/ 1 - 222 +//ty]o OlH ':E'FILE_

TLE 2L} Holst, E. "The Bivariate Normal Distribution.” https:/www.ami.dk/research/bivariate/.

X 2 1 14
N A
import numpy as np

z1=np.random.normal(0,1,100)
z2=np.random.normal(®,1,100)

y=2%(0.7%z1+np.sqrt(1-0.7%*2)*xz2+1)
np.cov(x,y), np.corrcoef(x,y)

[> (array([[0.96525685, 1.15429555],
[1.15429555, 3.68884376]]), array([[1. , 0.61171685],
[0.61171685, 1. 1))

5t 0|8 n umpy.random.multivariate normal

cov = [[1, 1.4], [1.4,4]]
X, Yy = np.random.multivariate_normal(mean, cov, 100).T
np.cov(x,y), np.corrcoef(x,y)

# diagonal covariance

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [(15/25]



https://www.ami.dk/research/bivariate/
http://wolfpack.hnu.ac.kr

(ChHEE ]

[> (array([[1.05819297, 1.4231249 |,
[1.4231249 , 3.85671894]]), array([[l. , 0.70445229],
[0.70445229, 1. 11))

AgE a2)7|

Affine transformations of the multivariate normal

DRFX ~ N(py, Zy)0lL Y = LX + u(L~NHFHSMH y=Q|0| | BIE{)0[2H SHEHSHE) Ve T
SEEWEny, = u + Luy 0l S, = LT, LTo[Ct

0| AR LE MMsH= ZR0ll= X ~ N(u, 021 )2 AB3IEZ Yo| Z2ie 3, = LLTo|ct,
M [ 2 ZEMAHHAS AR5t Cholesky Decomposition(E35H)S O SH:}

(X, Y)2| B2 (QEPYX[SHE Positive semidefinite matrix) X = L L*, L=5FoCHZteHE [ *=CHZIa8 |
9| conjugate transposeO|Ct.

https://peterroelants.github.io/posts/multivariate-normal-primer/

v (3|, D

d=2 # Number of dimensions

n=100 # sample size

mean = np.matrix([[2], [11])

covariance = np.matrix([[1,1.4], [1.4,4]1])

(@)
=
D
Q
—+
D
—

np.linalg.cholesky(covariance)
np.random.normal(size=(d, n))
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[E_l-l:l:] E'.F_E_E]

[N ]

X, univariate_normal(x, mean=0, variance=1),
label="$\mathcal{N} (0, 1)$")

X, univariate_normal(x, mean=2, variance=3),
label="$\mathcal{N}(2, 3)$")

X, univariate_normal(x, mean=0, variance=0.2),
label="$\mathcal{N}(0, 0.2)%")

.xlabel('$x$', fontsize=13)

.ylabel('density: $p(x)$', fontsize=13)
.title('Univariate normal distributions')
.ylim( [0, 1])

xlim([-3, 5])

. legend(loc=1)

.subplots_adjust(bottom=0.15)

Univariate normal distributions

10
— M0,1)
0.8 4 — M2,3)
—— N0,0.2)

density: p(x)
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def generate_surface(mean, covariance, d):
"""Helper function to generate density surface.
nb_of_x = 100 # grid size
x1ls = np.linspace(-5, 5, num=nb_of_x)

Xx2s = np.linspace(-5, 5, num=nb_of_x)
x1, X2 = np.meshgrid(x1ls, x2s) # Generate grid
pdf = np.zeros((nb_of_x, nb_of_x))
# Fill the cost matrix for each combination of weig
for i in range(nb_of_x):
for j in range(nb_of_x):
pdf[i,j] = multivariate_normal(
np.matrix([[x1[i,j]1], [x2[i,jll1]),
d, mean, covariance)
return x1, x2, pdf # x1, x2, pdf(x1,x2)

import matplotlib.pyplot as plt

from matplotlib import cm

fig, ax = plt.subplots(figsize=(6, 4.5))

# Plot bivariate distribution

x1, x2, p = generate_surface(mean, covariance, d)
= ax.contourf(xl, x2, p, 100, cmap=cm.Y1lGnBu)

.plot(Y[0,:], YI[1,:], 'ro', alpha=.6,
markeredgecolor="k', markeredgewidth=0.5)

.set_xlabel('$y_1$', fontsize=13)

.set_ylabel('$y_2%', fontsize=13)

.axis([-2.5, 2.5, -1.5, 3.5])

.set_aspect('equal')

.set_title('Samples from bivariate normal distribution')
cbar = plt.colorbar(con)
cbar.ax.set_ylabel('density: $p(y_1, y 2)$', fontsize=13)
plt.show()

HNU Dept. of Statistics http://wolfpack.hnu.ac.kr [(18/25]
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Samples from bivariate normal distribution

3 p
2 p
=17
0 4
-1 -

-2 -1 0

1

Zul YRR TR 85y

-

0.108

0.096

0.084

0.072

(y1.y2)

0.060 §

0048 &

-0.036

dens

-0.024

-0.012

—-0.000

Marginal distributions

3 === ply)
.
2 e
N
\\
\
1 1
/
’
%
.
.
0 .
-1
2 A 0 02 04
X density
0.20 . 0108
e N === plx) 0096 >
015 / \ 0084 %
/. “\ > 0072 X
010 / N @ 0060 &
g / . s 0048 >
7 \ © 0036 ‘5
0054 - Mo 0024 c
[ Sl 0012 3
0.00 r 0.000
-2 0 2 4 6

.
%85 11NU Dept. of Statistics

Conditional distributions

6 6] = Plyix=10)
]
44\
\
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\\
2 .
SS
> Ssal
0 \\\
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-2 7
I””
/
-4 -4 'l
T T T T 4 T
-1 0 1 2 3 4 5 0.0 02
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T~ 0.108
/ N 0096 =,
04 / \ 0084 o
; \ > 0072 5
/I \\ g 0.060 E
7 \ 0.048
02 / \ 3 0036
/ \
_ === plxly=1.0) ~ g’gi‘z‘g
00 boammme? T PRWER N ] .
T T : 0.000
-1 0 1 2 3 4
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d =
mean = np.matrix([[2], [111)
cov = np.matrix([[1, 1.4],

mean_x = meanl[0,0]
mean_y = mean[1,0]

Get the blocks (single values in this case) from
the covariance matrix

covl[0o, 0]

cov[l, 1]

cov[0, 1] # = C transpose in this case

fig = plt.figure(figsize=(7, 7))

= gridspec.GridSpec(2, 2, width_ratios=[2, 1], ight_ratios=[2, 1])
# gs. update(wspace 0.
plt.suptitle(’ Marglnal dlstrlbutlons , ¥y=0.93)

# Plot surface on top left

axl = plt.subplot(gs[0])

X, Y, p = generate_surface(mean, cov,

# Plot bivariate distribution

con = axl.contourf(x, y, p, 100, cmap=cm.Y1lGnBu)
axl.set_xlabel('$x$', fontsize=13)
axl.set_ylabel('$y$', fontsize=13)
axl.yaxis.set_label_position('rig
axl.axis([-2.5, 2.5,

ax3.set_ylabel('density', fontsize=13)
ax3.yaxis.set_label_position('right"')

ax4 =

ax4.set_visible(False)

divider = make_axes_locatable(ax4)
= divider.append_axes('left’,
= fig.colorbar(con, cax=cax)
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y_condition
mean_xgiveny =

x_condition = 1.
mean_ygivenx = mean_y + (C % (1/A) % (x_condition - mean_x))
cov_ygivenx = B — (C x (1/A) * C)

# Plot the conditional distributions
fig = plt.figure(figsize=(7, 7))
= gridspec.GridSpec(

ax1.p10t([—2.5, .51, _ _ iti , 'r—")
# x=-1. that is conditioned upon
axl.plot([x_condition, x_condition], [-1.5, 3.5], 'b—-")
axl.set_xlabel('$x$', fontsize=13)
.set_ylabel('$y$', fontsize=13)
.yaxis.set_label_position('rig
.axis([-1,5, -5,71)

ax2.plot(pyx, yx, 'b—-',
label=f'$p(y|x={x_condition:.1f})$")

ax3.plot(xy, pxy,
label=f"'$

ax4 =
ax4.set_visible(False)
divider = make_axes_locatable(ax4)
= divider.append_axes('left', size='20%', pad=0.05)
= fig.colorbar(con, cax=cax)
cbar.ax.set_ylabel('density:
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p—Norm:|x|,= () |5
i
Ll —norm: |x|= Z |x;| =8
L2—norm: |x|,= (inz)l/2 =4/26 : f32|C|et A2

1

«Loo —norm: |x|_=max|x;| =4 ZChgin

import numpy.linalg as la
Li=la.norm(np.array([[1,3,4]1]1), [> 4.0 5.099019513592785

L2=1la.norm(np.array([[1,3,4
print(L1,L2)

SHHO| L 1-NORM 2t 2| Z[CH L1-norm g{0]11 L2-norm 2= A4S HMiZsto] Cigt Mz 2i0|Ch e

B=np.array([I[1,0,7],19,5,8],[3,4,2]1) _
la.norm(B, 1), 1a.norm(B.2) (17.0, 14.841898441682643)
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127k eigen value

Av = Av
/
Matrix Eigenvalue
Eigenvector
5
Av [ ax anx 1.00 0.50
4 L A = =
ayy axy 0.50 1.00
y |
3 o -
2.00
) Vo=
, 3.00
, Rt
az B [3.50]
vV =
al 4.00
o .
0 1 2 3 4 5
X

2 AL v HEIS a0 1 gI0| HBIBIT Eigen S20| 0124 own XHAIS), typycal FEE!

import numpy.linalg as la
eigval,eigvec=la.eig(np.array([[1,0 1 5 0.5
51,10.5,111)) Lt =21

print(eigval, '\n',eigvec)

A7 kR HYRT A, (HBIA2E), S 12 0|R0fT] R B Al(characteristic equation) A x = A
£ 0IESH= 1S58 18X |(eigen value, characteristic value, latent value)2t 511 ZF QX0 CHaH D REAA]
OFESH= HIEE 119 HiE(eigen vector)2F SHCE

=

mo 1

(A — Al)x = 0= 253z sff= Cramer Ruledi| 2f3l det (A — A1) = 02 2H5sh= 12 751 &Lt 0|

Apsen DA = AT| SBMS ABICE O] AL X427t nQl 2| LA Ao

ct f(A) = A" + a2/1"-1 +
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<

fA) =a A"+ azﬂ”_l + ... = 0 S4eE A (characteristic equation) £ PH&st= A, 4, ... 4,
(N7l &XH) 1K} X|(eigen value, characteristic value, latent value)2} S

O|H 78t A= A — A HBS singular= CHECEH

NRHE A5 |

2} ;0 hst01 (A — A1 )x = 02 RiEsHs xS 75128 0|5 DRHER BHCt

o=
. DRE|Q| g2 W Ao izieladl Biich ) 4, = tr(A)
- DRHE( M2 SOICt => HES S2UNS S, 5m) B7io| Felsict
y =01 4|08 03
L T~ 102 0.7
~N
N _
Ay =10.3,0.7) Axz =
\
Ax = (0.8,0.2)
o) - .
x = (1,0) ~ — — circleof x’s
These are not eigenvectors Ax lines up with x at eigenvectors
288
JILE 0] THoA = CHEX] SZIKIRE A5 A2 A2 IRK|2b= | 1R

07| M DRX|et & HE A
HE = F45] 0| EXfeHtt= Z0ICH 0] g2 WE0l| 22! 240l 22! 2F0] ZHsSITt.

o

NRXZFAEE= HHIE EH % S A t0M2] 2 1 23z #IE2E 510 AHAS 2 AZ0M AIF t0l|A
(LHV7ER] 4O} hS SHEO| CHEH SOt % = 4% 0|CE RIOF A7 10f| (2t @1 710] 227} stable 5L
=

ma1 = 7L 2 740|304 =i 0] E ZH0Tt

A
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